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G SECTION - A G
’ Analytical Ability i
E 0% s E
A Questions : 75 & % Marks : 75
‘ spdoy et 75 A
L L:?"ltd s 78 L
: 20)
JB (i) Data Sufficiency { 5{:1;;2 #20) )
&grod womgs ;
| = - ‘ form of two |
6 Note : In questions numbered 1 to 20, a question is followed by data in the 0 : G
D statements labelled as T and 11. You must decide whether the data given 10 ( D
: statements are sufficient to answer the questions. Using the data make an E
A appropnate choice from (1) to (4) as per the following guidehines : A
; (@) Mark choice (1) if the statement [ alone is sufficient 1o answer the question. L
: (b) Mark choice (2) if the statement 1l alone s sufficicnt to answer the question. J
’ (c) Mark choice (3) if both the statements I and 11 arc sufficient 10 answer the B

| question but neither statement alone is sufficient. |

(d) Mark choice (4) if both the statements 1 and 11 together are not sufficient to
answer the question and additional data is required.

am$5 1 1 %08 20 H8L 203D BB BAE® 8 (B4, R Bod L1 6 Hhihes
L v Joth e Seroforr aguara. aws Sgory) audrhow, :
) 2P [BOdTrw [PHE Wreed) an)odd VoySrw syedr So J
80 D JIg0oTD. 1 Jgrdnd (o WILEE riew abdrhod

: (1) 208 (4) HTH T8 vard 2w JobE dabod. .
° (a) |[PhS Voo ad)odD Phisto I &(Ed Logbiad & 2oy
: (1) ~ HGodod. \
L ) @RS oo adyodd Hhdto Il irEd dogibad b wry
| (2) > HBoS0s. ;
| (©) (RS Srerdo adyodd [Phdares 1, 1T Sed Dovglivay wore '
‘ : 2 2.5 8 Erar Dovgho SEFE D 2arw (3) M HBodod, D

(@) S BreRo iseres L I 8e® @ Govzy o ;
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. 1. ‘Is6afactorofn+37? :
| n+3%6ra80? °
G I n is even and divisible by 3. )
> n 20 Dowg vwav 3 & 2rAclud s, D
: II. nisdivisible by a prime number. ‘
A n 8 (DGR ‘b-:q:g&‘ rAolatdod. ,
;2. The product of two integers a and b is 270. What is the LCM of aand b ? J

. Soth rgros w a b o w0 270. a,b e S Jod 7 X
! . TheGCDofaandbis9. .

Ny a.be v 9. ]
’ II. aand b are divisible by 3. 0
: a.be %3280 :

3.  What is the value of the positive integer n ?
) Sy S rgroso n ), Lu 20d ? )

B L 12+224...4n*=285 B
| II. 3<n<20 |
> 4, If a and b are positive integers such that the product ab is 30, then what is the value of »
E a+bh? E
A @0 ab =30 wabge a, b L $8rgrosLard, a + b Jesd Sod ? A
) . a>b L

a
=2
II. Iqb-:-

. 9 Ifa b, careintegers,isa+b+cdivisibleby 3? 6
i a.b,c wiPgrostowd, a+b+c 3 s ? )
: [. " a=2b-10andc=3b+25 g
A Il. a+b=+cisanodd integer. A
L a+b+cTVowg L
. 6. If xis a non-negative integer, is x even ? B
. X 20BSE YrgroshHand, x Loy 2 o e

G I.  8%is an even integer.
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7. 1s A ABC cquilateral ?
6 A ABC TUveram (Bzbear?
D . AB=BC

; 1. lhBC = 60° E

" 8. Isa+b=0,ifaandb are real numbers ? L
| a.b e un "mq:g:;u;.:ﬁ_ a+b20 oo 2

: . ab=0 B
| “ 31 + bz = l'} |
z 9. If xand y are real numbers, is x>y ? G
X, ¥ & S Dowgeond, x > y sdoce 7 0
) . xis the smaller of the roots of x* = 1 =0 A
L 2 - 1=0 &%) dred’ x IH0.
. yistherealrootof y' -~ 1=0

J y' = 1 =0 GhE) UL Wwreo y. J

10. If aand b are real numbers,1sab>0?

¢ a,b & S Vowguwd, ab > 0 ¥ 7 6
i L 2l +[b|=0 ’
E I 2fal = b] E

] 11. Athow many points do the two circles intersect ? L
or) Dothe D& Both Dyeres wodohEolran ?

I.  The radii of the two circles are equal.
Sold Dyorv n-sé-g‘-m NRPRO,

II.  The distance between their centres 1s 12 cms.
Soth 8 Sooe g &rdo 12 cms.

12.  What is the share of A in a profit of ¥ 1,500 in that year ? A
A @ VoDEYB0S* ergfo &, 1,500 &F A orér o 2 L
; e I.  A'scapital is T 5,000 more than that of B. J
) B Wfpwd 508 A Dwd &r. 5,000 25 b,
B II. AandB are the only partners in the business. |B
. @ grBod’ A, B L I SD s,

.
e II =

i -'.....l'ril
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B 14.

15.

16,

17.

18.

19.
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is a positive integer, 1s it a prime number ?

a 55 rgroshans, v8 Ra Lowrg »

1L

It 1s odd number.
@8 2 oowg.

It 1s an ¢ven integer greater than 2.
68 2 508 WSS wd V0 Towg.

If x and y are real numbers, what is the value of xy?
Ly @ TR VoRLwd, xy b Jod ?

L
IL.

x+y=16
2+ yi=160

What is the value of sin (28) ?
sin (20) vedd oJod ?

L
.

tan @ +cotB=3
(cosec B + cot B) (cosec B - col 8 =1

What is the sum of the first 20 terms of the Arithmetic Progression ?
$O¥HEG €0 B 20 Lo W0 w08

l.

11

The sum of the first term and 20" term of the AP is 120.
©0S[AG S°Q W, 205 WS wdo 120.

The common difference of the AP is 3.
©0gAG LorodSw 5.

What is the surface area of the cuboid 7
Sfirno avE) swdsy Jregdod 2

[

Ratio of its length to its breadth is 2 : 5.
PR PEY), Sdeye a8 2: 5.

[I. Volume of the cuboid is 100 cu. units.
Bizh0 E), WRLOIN0 100 Ry ASE.
If *a" is an integer, what is the value of a ?
Qrgroso a gy Do 0 ?
. a’=9
II. a*+a=6

If a and b are real numbers, is a* > b* ?
3
a, b & S Lowmgewd. a’ > b wYdoar ?

L.
II.

IhigDeal

a>b
a>0n
5
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. (ii) Problem Solving (Marks : 55)
G VRS PER (brdh) e : 55)
° (a) Sequence and Series (Marks : 25)
. ¥hres. ﬁﬂ}h} (Ao e 25)
*  Note: In each of the questions numbered 21 1o 30, a sequence of numbers or letters that
L follow a definite pattern is given. Each question has a blank space. This has to be

filled by the correct answer from the four given options to complete the sequence
: without breaking the pattern.
B Ol [‘_E)’ilu 21 208 30 DB o (28 L‘Jﬁlﬂﬁfi‘ﬂ‘ SRWRRS “J.:umgu (T S50 e 2.8
| EDagd Jahird) ST, (8 (PHET whI adyh T BWSC
’ WOk V0 vad 2wl JEY sLEh Jabirld dofo SwiHoa
E Jrdowrd.
~ 2 6:210:: : 120
L (1) 3 (2) 4 (3 § 4y 7

3.5 7
JB 22, 4°6'%§
| M 3 @ 3 ™ o @ 3
23 5:3125::6:
: (1) 36656 (2) 38656 (3) 46545 (4) 46656
A 24, BFI:OSW::DIR:___ N
L (1) AGP (2) BIQ (3)y CIR (4) QWE
) 136:358:: ' 480
5 (1) 258 (2) 267 (3) 289 (4) 369
| 26, 1331:11::1728:
G (1) 24 (2) 22 (3) 14 (4) 12
D 6FJ : 16PT : : 8HL :
: (1) 15PT (2) 18TX (3) 18RV (4) 16QV
© 28, 64:100::72:
: (1) 144 2) 121 (3 112 (4) 8l
J 2. 9:72:: : 64
|B (1) 6 2) 7 (3) 8 4) 9
. 30. Train: Driver: : Class :
i S0 208 : Gotd : : SBHA :
E (1) Benches (2) School
k Do ot o1 ¥
| (4) Black board
vy oy

Sl
Pl " il | il
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Note In questions numbered 31 to 35 pick the odd thing out
$aong : 31 wod 35 W e E:'J’ilbd‘ DO Kool :
31. (1) (2,37) (2) (3,5,8)
(3) (5.7.12) 4) (7,11,16)
32, () 25 (2) 81
(3) 121 (4) 289
33 (1) Goat (2) Cow
D o)
(3) Cat (4) Camel
9,8 208
34, (1) Chlorine (2) Bromine
£°0S B'DS
(3) Iodine (4) Methane
BADES DES
35 (1) 15 (2) 35
3) 7 4 9
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B
Note :
fill in the blanks with suitable answers,
o
36. CFIL, R
(I) N 2) 0
37. AZB, EXD, IVF, OTH,
(1) USK (2) URJ
259 19
B TN ——n3
13 12
13 () 17
529 131 179
e 6 12715
59 71
hH 2 3
40. 2,6, 12,20, ,42
() 30 2) 32
41. 2,9, 28, 65, 217
(1) 85 (2) 96
42' llstgp 15.
(1) 23 (2) 22
43. 1,3,6,11,18,
(1) 24 (2) 26
4. 0,7, 26, 124, 215
(1) 37 (2) 50

45. [12,4/80,/252, /1100
(1) /3%

IhigDeal
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(2) 441

(3)

(3)

(1)

(3)

(3)

(3)

(3)

(3)

(3)

ORK

34

126

21

29

63

- (3) /534

Download from WWw.JbigDeal.in Powered By © JhigDeal

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

)

URK

=

i

]

e|L

36

185

19

32

576
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Each of the questions from 36 10 45 follow a definite pattern. Observe the Same and

36 204 45 HED K (PNW &5 w) NSO 3‘-"“‘*’3"5& F DTy Y Ea‘ia‘-:‘a?ﬁ:)_
B0 D Lo Sregrared ooy Grbodod
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.(b) Data Analysis (Marks : 10)
Sgrot Jhae (oo, e © 10)

In the following table, production of varioys crops (in tons) is given from 2000 to 2004

z Study this table and answer the questions from 46 to 50. G
| (BoD LS55 2000 obS)do woD 2004 tobdydo BB I bove 4B o
v oyed) AREDOD. G WYL st B, 46 wod 50 M do PHe®
L Lrorsruw ool L
/ ~ Year Rice Wheat | Sugarcane | Barley | Maize J
 [pesse | S0t | Mk | e | wb | &% B
! .'_ 2000 414 5308 1210 916 370 |
6 L2001 632 5514 1432 979 415 | G
) 2002 | 610 5210 | 1541 845 440 D
E 003 520 4634 1274 741 290
| 200a | 570 4921 1337 935 328 :
, 46. The highest growth rate of sugarcane production over its previous year 1s recorded in the |
B Year B
. Lokdybodt TEH 688 o0 WO Lob8 6o S0B wSgRs £)8 S S |
G s QO 7 ]
° (1) 2004 (2) 2003 (3) 2002 (4) 2001 i
» 47. The average production of wheat (rounded off to the nearest integer) in the period given in A
L the table. — , L
L4858 S° alyd sruodt B0 Vi & 838 (D Lrgros S 20Fabrr) |
:3 ”f; 5019 (2) 5117 (3) S118 (4) 50138 B
' 48. The difference between the average production of Barley and average Wm of Ricei1s |
) Hitew 28 @Sy 38 LD Wik FO GYNgo 48383 DPghie Hgengeo ‘
() 34 (2) 334 3) 344 (4) 364
E ' ' the year 2000 is approximately
» 49. The percentage growth of sugarcane in the year 2004 over
: Impeauéébﬁo £oB 2004 LobdySodt IEH 88338 5)8 o (TrSd) L
) (1) 15 (2) 155 (3) 10 (4) 85 )
,B 50. In 2001, the crop that recorded the highest growth percent over its previous year, is .
. 2001 &, D PrdR VoS80 K08 6gds WG 30 SIS I Vod ]
0 (1) Rice (2) Wheat ;
: $0 grRgo Yo E
A (3) Sugarcane (4) Maze A
L [OD g L
9 T 8
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o Note: In the following Pic diagram. people of different age groups of a town ar¢ fﬂf"ffw'::“i‘i
| hg the angle made by that sector at the centre. The tota ulation of that :
72,000. Based on this information, answer the questions 51 to 5.

o B0 : S 0D L' (Pie) 008" 8 L0t Seth Babis (fmiges®d red. @ VED
do|80 & B0 Food WDoddBod o Domo Mo 2T 72.000. G4
S TNE0 erBorr Sos 51 %o 55 509 He e % Sre o orahod.

+ G/

In the above diagram :

E :ﬁﬁ‘ﬁ‘ :

A stands for less than 10 years of age,

* 10 0008 0w 508 S5) L DA e S0 A T Upod

B stands for 10 to 20 years of age.

102000 20 Sobdyore g DAl e o700 B kool
C stands for 20 to 30 years of age.

20 0w 30 Doddyory g PAD e &S00 C o tipod
D stands for 30 10 40 years of age.

° 300w 40 Loddyore g Db e 303 D T D0l
’ E stands for 40 to 50 years of age.

. 4000 50 voRdyore g wobe fv &0 E I Uinod,
A F stands for above S0 years of age.

L 502008 o A 2dD 380 F o Dpod.

s 51. The people in the age group 40 to 50 are less than those in the age group 20 to 30 by

B 20 200 30 Doddyore g Wbl ADAL [Dee owg , 40 o SO Loddyory Wiy
, 2By (e ‘.fmq:g EoB Jod ol‘fg)aib ?
. (1) 11,000 (2) 10,000 (3) 8,000 (4) 7,000

. S2. 'The ratio of people that are more than 50 years to those that are less than 10 years is
S0 RGO 20l [Reee Doge®, 10 Vodsyore 5 (@220 oneS Sl X3

A N3 (2) 3:4 (3) 4:3 (4) 3:2
L 53, ;i;’mgg gnﬂ t!l;; age group 10 to 20 and 30 to 40 years put together exceed those of age
| 10 ow 20 ‘boi’oégu-t.- Mg Q0P (Lo WO 30 o 40 :bﬂﬁé;,u'r.. {aﬁg
B SaABpAY (Dee w0, 40 wow 50 LoRSyore Labiori (V2o 508 Jod sHELy 2
, (1) 18,000 (2) 22,000 (3) 24,000 (4) 36,000

54. The percentage of people in 30 to 40 years age group in the total population is

° W&o aryrd’ 30 oD 40 Lods orw HAi [Dee TS0

: 1) 20 _(2) 25 3 30 @) 40

- of people in the age group 20 to 30 years is

: 20 20D 30 HodSyore Sasnyie (ISR (e Vowg

- () 18,000 (2) 20,000 {121) 24,000 (4) 36,000
Rk

| L
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59.

61.
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Coding and Decoding Problems (Marks : 10)
e*aoh, &EG0h ‘Magw (Grdoy e : 10)

The letters of the English alphabet are artanged around a circle and are coded as follows :
(1) A vowelis coded as third vowel from it in the clock-wise direction.

(2) A consonant is coded as fifth consonant from it in the clnck—wisr-_dim, o~ dng GO0
Reverse process 1s used for decoding. Answer questions 56 to 65 using this coding
decoding processes.

aofian vglare SRS »)e 5 God’ o). & |B0b aporr g5 "55‘?&'
(1) (@28 k) (vowel) & 0738 Trdd sy r.ibgﬂwi &8 I3,

(2) [(#8 &w (consonant) » $6°38 O Ireo (g pict) E6 T H. 0
bund Dot Dt A58 6. & 946,46 %Whu{) 56 2o 65

de (e wareralagod,

The letter that is coded as U is

U e 56 dabadd sibo

iy E () A 3) O (4) 1

The coxde word for MASTER 15

MASTER % 5°'4 0do

(1y TOZBUY (2) SOYZUX  (3) SUYZAX (4) TUZBAY

The string of letters that is coded as NORMAL 15

NORMALm 58 wabadd silary

(1) HELGIF (2) HALHIF (3) HALGIF (4) HALFIF

The code word for TIGER 15
TIGER & 8°& 2o

X
(1) ZANUX (2) YAMUX (3)y ZAMUY (4) ZAMU
The code word for APICET 1s
APICET % &°5 W50 .
(1) OVAJUZ (2) OVAKUZ (3) OVAJOL (4) OVAJU

The string of letters which is ;gd;: as MUSIC 1s
MUSIC r» 5'E Schads s50at
(1) GEMYW 2y GEMUW (3) GEMVZ (4) GEMVY

The code word for MATCH 1s

MATCH % §°G 2o .

(1) SOYIJN (2) SOZIM (3) SOZIN (4) TOZIN
The letters P, T. O are coded respectively as the letters

P.T, O & S0 56 wilaww

(1) V,EZ (2) Z.V.E (3) EV.Z 4) V.Z,E
The code word for PRINCE 15

PRINCE % §°& 250

(1) WXATIU  (2) UXATIU (3) VXATIU 4 VvXuTiu
The letter X is coded as

X% &6

A b (2) C 3 G

@ Debuie
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J > (Marks : Iﬂ]w
5 (d) Date, Time & Arrangement Problems P
. 35, Bhoabo, widEe Dby L’ el

G a

D 66. The angle between the two hands of a clock at 8.20 AM is

: KBAPEOS 8.20 AM waniyd Todh e g S'eso

g (1) 125° (2) 130°

: (3) 120° (4) 135°

| 11

B 67. The number of seconds 1n % of an hour is

|

: Kobd* b Boe* &) Mo

’ (1) 1100 (2) 1000

E (3) 600 (4) 3600

) 68. A is father of C. D is son of B and E is brother of A, If C is sister of D, then how i1s B

J related to E ?
C %A 303, B % D $bahd, A ¥ E 768, 253¢ D & € V560 wwd BE &
. DY e B0 ?
b (1) Husband (2) Brother-in-law
‘ Ca o} TRV ST
A (3) Daughter (4) Sister-in-law

5 69, Sunil reach:_sd the venue of a meeting at 8.50 am. He found that he was 30 minutes earlier
| than the chairperson who came 40 minutes late. The meeting was scheduled at

: ~ord ©00TNIS S 8.50 am § THHIh. 40 Kwdres veigon SIS GSHE
. $08 30 Swires twothir ST ADoTrd. Lird 2898 Lbabo
- (1) 9.00am (2) 8.30 am (3) 8.40am (4) 8.20 am

: 2 +4y° X2
) Enml:l'latxt}m_wy-andmy:‘}_‘fnranyrealnumh:ﬁxandy.H'aa-b'—-fl.ﬂidt,lhcnbz

| 2 + 4y
X i:‘fﬁﬁﬁ.m:gm:,yué x:y:%eﬁ.:ﬁy:fabaw&&a=h=4ﬂdu':mﬁh=

(I) 2a (2)

B s @

(W)
W e

12

u nr
) a 5
U L WA LW e
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For any a, b € R, define
3¢h=nm{a.blandacb=nﬂn{a,h},m“_m} ”
a.be Ro¥,

a +b=max {a, b}, aob =min (a, b} Do, ewdyypeh a * (boc) =

(1) (arb)olaxc)
(3) ao(b=c)

In 20 seconds the hours hand in a clock moves an angle
KaarS0 S50 Bobe fwe 20 MEodS” ¥88 Fno

o @ o ()
o @ o

N2 (Y ; -
145+ (5) +(5) + - wintinicy

2 (2} (2V W a
1+§+-\§} +[3) " S— shooruS =

(1 1 2) 2
3 3 4) 4

(x?: xisan integer, [x - 2| <4} =
(x*: xpgroSo, k-2{ <4} =
(1) @{=110,1,2,3,4,5)

(2) (asb)oc
(4) (aob) * (aoc)

(2) {1.4,9,16,25}

(3) (0,1.2,4,9,16) @) (0,1,4,9,16,25)

[ L ] L] W

If the year 2003 starts with Monday, then it ends with

2003 % ﬁcﬁ;égda i dos e and, ¥ LHofe S

(1) Sunday (2) Monday
ubar 00 D0

(3) Tuesday (4) Wednesday
Doigardo wardo
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SECTION - R
Mathematical A bility

ﬁd’j 'lLU ﬁ*"j.
Questions : 78 Marks : 75
Eyeo : 75 sy e 1 75
() Arithmetical Ability (Marks : 35)
wolidd LY g8 (b e 1 35)

76. The greatest number which divides 121, 134 and 147 leaving 4 as the remainder in cach

Case 18
121, 134 0a 147 &% Lu&mdaué 4 FRnne aigr orhow H0RvowS
(n 17 (2) 14 (3 13 i4) 9

i
77.  The reciprocal of the sum of the reciprocals of g and i

S 3 N .
g w0l ;& OGSy g (S ame andin oS, Wg() e

5 15 15 25
B (3 (2) 5 (3) 23 (4) 31
1 . _,.'1 _i _u | _H'.
8. ﬂlccumt1:Mcrnan4-hu F €= mum = 515
4 1l 13
a_—h_? —1: whd d —guw@wm

(1) beced<a (2) bsa<c<d (3) a<besc<d (4) a<c<becd

1 3 3 .1/ 1.1 |
s 79, 23+33+4-2§(62~25)+25=
73 17 79 82
: () 53 (2) 53 3) 33 4 %

e 80. Two numbers x and y are respectively 20% and 25% more than the third number z. If x is
A a%ofy thenas=

L Bod Vowges x WO y e DAL a8’ Lowg z £08 20% Ddab 25% wLo,
y GoE) a 70 x vowd, a=

5 (1) 80 (2) 90 (3) 96 (4) B85

81. By selling an item for ¥ 754, a trader gets 16% profit. Then the cost price of the item in

., Tupeesis
2.8 SpHW &r. 754 8 vindody o8 &7gdrd 16% o), Poderd. © S )

(2) 670 (3) 660 4) 630

'-ln."l}a,j-h-.-mu.' i ""
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A pipe can 1l an CMpLy 12, | B l
20 hours. If the tank i in IJS _ -
the tank 7 fu, then mt]‘:;\b“c 0.2 leak at the bottom, the tank is filled 17

o8 0% o8 b ey time (in hours) will the leak take to emPtY
B D Hobeeta

523000 © 88 20 fopges o , WK0n, BB ek rmd) ad) o8 O

009 FEO O Sapne . OB Mot 408, o Ladbo (Hobed) @

(n 35 2) 3 5
60 4) 75
Two pipes A and B ¢y fill
el o i S0k ey i3 s and 4 b0
(otal ime mken:;n hours, 10 fil] the mﬁm in alternate hours starting with B,
v v B &3 o

:025::% ZO«M 00 2.8 !"b%a&Mm 3 £0ah 4 Hobed* LW,

D OV A B ok a8 ol 3ug wese dob g0 @o & B
dwwd 800, o E‘gf:.:. NOLPUS DE 2o v faaho Hobedt

| s

ok !

alw

Two cars A and B stan at the same time #d move in opposite directions between the places
and y. The time taken by Car A and Car Bio reach their destinations after they meet each other
on their way ih#hoursamﬁlhmrsmmﬂy.ﬂm&nmnunfmespwdsufcmn:mdB IS

Soth 5 A, B w 23 Thabod* wabedd 5800 04S" x dak y A% WO ©

5°8 h’*gﬁmtﬁ" LENTSE BLUE) $hrd o8 ARrge 58 5D A S
4 fobes 58 B 3 9 dobes D800 wiyd A L0ak B 508 g Sitwe W3
(1) 3:2 Q 23 (3) 9:4 4) 4:9

A car travels al%ljmes its usual speed and reaches the destination 15 minutes carly. Then
the time taken by the car in hours to reachits destination with its usual speed is

2.8 5o ol Dodm 3508 -2- o0& K08 L:xﬂ'ﬁoiﬁo R farg) 15 DA 0
o JHEodzod o0 FTR 508 o Biargd) THE'EDS VY Tabo
Aoted® I

1y 2 o) 1 3) 3 @ 25

g e
; B complete

:g;a‘{;,%m&ighuw m;;d;é‘oﬁ;“.m Sobhed. B w?,a’u oW 12 St
70 Soprond, A OB A S0V DTS 4"55 R
M 3 @4 Q. o

15

EE amd

— pd m o [0} - (o] —

— > m o (] - w — Lo > m o (0] - @ — — > m o (9] - [o~] —

— > m lw) (0] - o~] =
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. §7. 2menand 3 women can do a paricular work i 1 4o seaik :
| in 10 days. Then in how I:'lﬂn}' d“}’ﬁﬂfjlﬂl 3 men ang 3 W?m:r:f::r:s I.::::fl?;:':‘nf;\::ﬂk 2 |
o agt pIees Wit 90 25 B 10 Slare ot Ly Yoprnng, Seoroth DEBLD
; §Fered® $prd Jabifed ? o = E

4 (1) 8 2) 6 (3) s

. 88, The sides of a rectangle of pCFIHIElEr 52 metres are
square metres of that rectangle 1s

52 HOY DS KON w8 8F SOy weres 4 - 9 Wyact aama. © 85
SHBR Brego WSS WIS’ ;
. (1) 100 (2) 120 (3) 132 (4) 144

‘ (4) 4 : g
in the ratio 4 : 9, Then the area n ]

, . . | _ Y
> 89, The radius of the base of a right circular eylinder 1s r and the radius of a sphere 155 1f the ;

volumes of that cylinder and the sphere are equal, then the height of the circular cylinder E
in proper umits 1s ) A
L 2% Lo HEab Pl uer iy DY) oG r LKk wl Fehn G gl

ol > 1 -L
L @ grohn Doad e PEOLrmow PERBE © bgo ke 0P SIS

R oy .
G r L G
w3 @ 5 D @ 3 D

. 90. The volume of a cube (in cubic feet) whose total surface area i;:. 31:-':’4 sqjuare fEEl If-. ) E
184 S8 wbibes Voyrdde Fregiem S0 A 2.8 Lo A%y SRS e

L (s wibibed®). - L
) (1) 468 (2) 512 (3) 525 (4) . |
I A}cﬂpper sphere of 6 cm diameter 1S melted to preparc a long wire of diameter 0.2 cm, B
Then the length of the wire (in metres) 1s ) ) y |
| 6 ‘E‘».Li‘b‘ a'g‘:ba £OPS 2% ovh Figot 50RoD, o “How 0.2 :J:.i‘n. FR0 HOAS G
G 2.4 DESS B SAHTIH. sl © S GE), e (@IS D
D il 1‘
: (1) 36 (2) 34 (3) 32 (4) 28 E

" 9. Ifll_;—h‘ =2 . thenx=

(252 eans. stiyex- J

o B @ 2 (3) ]-35' 4) :_;_5
;93. Furiﬂ;rsﬂsa.bandm:-ﬂﬁwﬁmash{mudm}ifmdividesa—h-Thcnwhiﬂh““*“m“ G
5 following is true ? n“gaib(m m) (™ O°Gr0. WP E

E Wommb&ﬂo‘ﬁm}(}uéaa~b3mq?

120 = —1(mod 11) L
[t o (4) 140=-1(mod 11)
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i +r rexd o diameter ) L
J cop l'f_"" ERag M angd | 22
. jnifnrlh :I.mtf*:_, ']‘fﬂ the "i‘mﬂmqﬁ"? dravm into a wire of length 18 metres of
| 2,8 23000 V3™ %Emh_u Ve in centimetres is ﬂoﬂ
G Dgé;n‘,;} .;.?3&:@1 2ENS aﬁﬂ‘ a‘ﬁg‘@& fong w8 oo ﬁéﬁ 18 M ED
: | @ & 0¥y o B avgistn, Mo OFE
E 18 D \ 1

(1 15 12 (3) 1 @ 3

L [ass, the number of boys fve

95. E;}:ntlm 'M"‘Nmmﬁu‘;mhmkhﬂﬁ“m;‘;ﬂ;:m“ﬂ o
J - 4 oy : Tamber of in tﬂ:ﬂﬂmlﬂr
. o8 SOASY XD T anbigey ), ”maa;:‘ﬁ amnb. o DD
| gﬁﬁﬂl’. ia—iﬂ‘oiﬁa. T g 0P hdey o act Jo0d. o :-"51:_;& +.8 u—%é)oa.
G Hi‘j":b ?;.\}wé o Soracty et Jﬂﬁﬂhlg

A B
) 9% fA:B:C '133:4~“‘¢“§:E:Ei5
o e A A B C
) A:B:C: a 3-4.5&3.51.;" B'CA® e
° (n $4:9:16 (2) 8:9:24 (3) 6:9:8 @ 37
¢ L = a2 +iox-ys
oo mz 2 '*J;- 1 . O . s
E 0 e ) . f that cone¢
" 98, The curved surface area of a conc is 4070 &g cm. If the diameter of the base ©
L " its slant height in cenimeternss B T e
J ﬂﬁérﬁgnéﬁ& £ 88 Ipeghs A0 SN0 ¥ $059) 72 $
: ep I (0. oY
70 20.a woud, od e X (RO iy & 58
; 2 (2 ¥ @
> 9. A solution of 8x = J(med ZE‘;)
E 8x= mod 21) A3, 25 ¥ 3 1 4 9
A 1 ) 2 lowing is & factor of 0 ?
| ich one of the 1070 SeroSaw 7
;100,11 20 and 24 are factors Of "-‘h‘“;;],‘:wg 20b 0E" 90 0 GBSy e
’ 20 L0k 24 won DS il (3) 0 (4 23
| (1) 120 2 M0 1
| ! LA P

> 101, The value ﬂf(l "ﬁ]Ll )\ 7
E L) oy, Se®
(O R ® }
L S\ 6 @ 3 Sl
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, | B MVSC-15
102 1f 12% of x = 8% of y, then the ratio .
=Y '-}-""J DES mg” o, B »
| xS R2rSw=yS' 8T ””“”*‘jww;mu%g_‘:}.:

w

(4y 3:4

. 103. The rate of simple interest per annum thay

god MQ 12 "..;obri;,ﬂ‘bﬁ‘ GIAGH) nt of money double y

My e PR
SSRGS, J.‘:*‘&r‘hg o O Dobdyoras

(1) 10% (2) 12% (3) 8% @) 15%
J
: 3

e 5
| ¥ .31
o 104 o5 =
0 g ol i a ]
E (n 1 (2) 3 ) 3 4) 33
A
. 105, Ifa, b, carereal and a+ b+ ¢ =0, then

pdlet artefet aterle?

) ab. ¢ e a..:“g) f:-uq:gu 0 a+h +c =0 sani Efil;fdd
lB ‘rl:h“lc“t .la‘lhzl:"l .In"l'!'-"lft:r =
G - X
; (M 1 (2) x? 3) 4 x*
E
106 If 7%+ =49"*2 thenx =
L 7341 = 49 20008, YD x=

(1 1 (2) 2 3) 3 4 7

107. 1f9x2 + 16 y2 - 24 xy = 0, then the ratio y © X 1s
92+ 16 y? = 24 xy = 0 wand, sy JWPBy:x=
0 (1 4:3 (2) 2:3 (3) 3:4 4) 3:

. 108. 1f\19-d4/x =127, thenx -1 =
L \J19-4)x =12 -7 s8, sdypdox-1=

J 1y 15 (2) 20 3) 24 (4)
109 V15+ﬁ+ﬁ+zﬁ+ﬂls-zﬁ-zﬁ+z\fﬁ= = b
: ) G+fT @ 205+VT) @) 2 (

i N W ﬂm -
. 110. The greatest three digit number which when divided by 6, 9 and 12 leaves the remainder 4

f z;ﬂmll;aﬁv‘ﬂ o8 4% mgﬁ{%ﬁn‘:‘ﬁ}:;'gbmﬁs-
G 1) 076 (2) 963 (3) 939 @)
S TN ST A L S e -
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v praic and Geometricg) 5 L2
0 s, rgba Figg T (arks : 20
Ma e =
"{__4‘5}isnvcne1 andh“ﬂﬂ:u' N
i gquation of “ggm:;f g'ﬂsﬁnal of the m:::quﬂinn of a diagonal of a square,
2§ SEO 30 (-4,5), 2 g1 4820 w0 @ SEBEO
D) Bob’ 8T8 Lb¥sme § 08600 Tx -y +
(1) ?'Hlf:ﬁfg @) x47y-31=0
(3 TFo¥EISE (4) x-7y+39=0
112, Equation of the straight line passing through e poin (1, - 5) and making intercepts in the

7« 3 on the axes is

ratio £ =
g0l (1, - 5) 0@ T Wi gei2: 3 HyBS* wods poaes &% LB
/1580620

(1) 3_1;1-3‘:‘-!-?:(] (2 h+3}r+[3=ﬂ

3) 3x+2y-1=0 (4) 2x+3y-13=0

2 N TR
113. 1f sec O +tan 4] =9 then the quadrant in which 8 lies 1s

2
se-:BHnnH:gHwﬂBﬁuﬁﬁ'cﬁu

v
(1 1 (2) 1 (3) m (4)
114. 2(sin® © + cos® ) -3 ﬁi“‘ja +cos" 8) = 3 -1 4) 5
(1 0 (2)
40—
113, Ifcos O 4+ sec B =2, then cos* 0+ Sﬁ; ::
cos @ + scc 0 = 2 wand cos’ #5670 = 4) 16
1y 2 ) 4 @ 3

116. If the angles of elevauon

the
the

taff on

. bt 60 m and the top of a flag s

: of a tower of height . of
t annuwf lh::ii; ground ¢ 30° and 60° respectively. then the length

n

o e & .ﬂ‘aﬁﬂﬁb
Pa o o8 oo Gy G0, TOL

tower from a point ¢
flag staff in metres 13 o 60 OB

Sz Jep o8 DY cepeo S0 307, 60° wand © @O JOO

R

20G® POWO a8, %

PED), :J:éaﬁﬁi (3) 120 @ 13

(1)

90

- » m o o - w = -~ » m o o — w < - » m O o T @ @ “

- pd m o @ - [o°] —
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B
|
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119. If the polynomial 7x*

w

© 120

121.

122.

s 123.

- 125,
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+4.1"‘--ﬁxz+.:u+b
Tf+413—ﬁr2+u+huﬁﬂm.t_ I

(1) =5 (2) -4 (3) -3

10
The remainder obtained when 1_‘.|{n ') is divided by 6 is

00
T ()6 A By o

ne]
(2) 2

(1) 1 (3) 3

The sum of the first 10 terms of the progression 2, 5. 8, 11, . |

2,5.8. 11, ... o3 [Bed S IS 10 Dre o
(1) 155 2) 29 (3) 165

If the n™ term of the G.P. 2, E\E. 4, ......1s 128, thecnn =
2. 202.4, ... B3V n S0 128 vawd n =

(nH 11 (2) 12 (3): 13

i '.'I‘-

i
X " . . — =
The constant term in the bionomial expansion of 1"3,:-:- e

(:nr2 - 4lj Ay Bl IS N Do

135 315
256 (2) 756

-135

3) 336

(1)

If C,=19C,, for 0 Sr£ 10, then 2.Cy + 3.C, +4.C, +

15 divisible byx-1andx+ 1, then a
X+ | ol grRoudd, a+ b=

LFR ¥ = —

+b=

@ -

(4) S

IS

(4) 310

(4) 14

-315
256

- B + ll.clﬂl=

0<r 105 C,='9C, oad 2C,+3C; +4C, + ... + 11Cyp =

(1) 210 (2) 6656 (3) 10240

If A is a 4 x 4 matrix and det 2A = 192, thendet A =
A 2% 4 x 4 5|3, det 2A = 192 wowd det A =

(1) 96 (2) 48 (3) 24
)(375) -
:_!?) @) \ ﬂ)

) ® (o o)

m
@

-1 0
0 -1 0 O

20
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E—

: R " |
: 127. rh—r'ni}.t*"*-d»x—lju B
! 0 i 9 _?_ |
6 M 13 2) 17 @ 35 @ 13 G
E Y E | E
v 128. .:h r:‘ﬂ X n )
L (I log4 (2) 3logd (3) 1og3 L
B 4 cos(3log.n) = ;
129, 57 (cos(3log x)) = .
z i s 31ﬂg‘,ﬂ @ -3sin (3log) .
. ] .
: -3 sin(3log x) @ -sin(3log_x) o E
A (3) 5 X o o )
. 130. The internal angle between two adjacent sides of a regu ‘gnn. in radians 1s |
; 2% (&5 DoUshRS® Bod wlk) shere g uut . BAHRE”, B
| g " |
. W ¥ &) 5 ( ® 10 G
D . - 0
© 131. If the lengths of the side and & of a thombus are respectively 13 cm and 10 cm,
A then the area of the rhombus centimeters is \
: 2.8 Liveon ISE %0 D&Y, o8 §go DEY DSV 13 2o, 10 Voad.
) swd v Yhoow eg0. %20, o€&* J
B (1) 60 9 130 (3) 65 ) 120
" 132. The poi xis which is equidistant from the points (7, 6), (-3, 4) is Z
. : 6. (3. 4) S0 LS Erol® Aok x 950D Ko Do E
: $ 3,0) 2) (6,0) (3) (-6,0) @ (.0 A
133, The ratio in which x-axis divides the line segment joining the points 3, ~Hand (-2,5)is
; Botdyes (3, - 4), (-2, 5) i 58 Jor poad) w080 il A B
' (1) 3:2externally (@) 4:3iswmally o
¢ 3:2 wrdrgorT 4:3 . D
E (3) 3:2internally ' E
P 3:2 woddom ,
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J | B I . WA ¥ AP T Bwr |
s 134. The inverse of the statement p = (g A 1) s
B

| p#[ﬂhﬂ@'ﬁéﬁmﬂﬁma l
© (1 (=qv(~r)=-P (2) ~p—> (~q) A (1) G
’ (3) qar =P (4) =p = (=q)v(~n D
E

hen which one is a 1autology ; s the following ? E
A 135, If p., q are two statements, | onc isat: JEF among the following
L . q €0 Both bsreard. (808 I D8 28y wdgo -

(2) (pvq) -

0 3) (pA@ —p p & |
| 136. The number of reflexive relations that can be defined on a set A with § clcmc:ro |
) S faresresdy 28 8 A B DoAY Dohdh Lunoere Loy ( ]
D (1) 2¥-5 (2) 2% (3) 250-2 (4) MR ® b
' 137. LetA={xe€ R/x<9andB=[x€ ﬁfd{.t:{lﬁ}‘thch\e A
| A=[re RIx*<9}.B={x€ Rf4{.t:-:[ﬁ!ﬁﬂﬂﬁf\r& L

| 1) (=3.-2)U(2.3) 2y ¢ e;b |

B 3 2.3 (4) i-: .
s 138. If A. B are two sets such that n(A - B) =40, ‘h \ =57 and nfA ~ B)= 16, l.hcn niA)= :
’ A. B e Bod Hd&es, n(A - B) 3404TBEA) = 57, n(A " B) = 16 w8 n(A) = )
E (1) 97 @ Bam B3 56 @ 113 E

Let f: R — R be a functi %'Ied by f(x) =23 + 8 forall x e R, then the funcu.un fis L
xeﬁb.f(.t}=lﬁ+8midsﬂ‘fu;.uﬁ'.ﬁ;n.ii:ﬂt )

ont (2) onto but not onc one
Lo(%0, 5P s3ggo

(4) Neither one onc nor anto

scSir 5. Lodmr 50

o1 Q be the set of all rational numbers and f : Q — Q be a function defined L
: f(x}=3'1'lal forallze Q. ﬂlﬂﬂr'_'(f?}= J

5650 Dogrg VB Q e ocr0. 28 (Hihaso f: Q - QR @3 x € QS .

| =5 m 508 17169)= D
(2) 51 3) % (4) does not exist :
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JVA ¥ ol N mw | B I
; “"} S“"ﬁ“ﬂ‘ hh"“r m: I.) !
| Fopgs Fhded e : 10) :
z 141. The standard deviation of first 13 natural numbers ;¢ °
: 2 13 Ddra Dowge |EDIBedo
’ (1 42 (2) 14 A
L 3) a2 4 \1a :

142. 1f the mean and median of a data are respectively 56 and 48, then the mode of the
28 SeromTlE $oSgwo, Ddghiores Whr 56, 48 wwd @

W ITE0
6E ' |

E (n 32 (2) 46 3) 2 (

’ 8

" 143, The mean deviation of the observations 15,17, 20, 23 and %mm mean 1S L
J L0%ebeo 15, 17,20,23.25 o wosidgho ﬁ).w

. (1 20 (2) 32 (3 6 4 0 .

> 144, If 8 persons sit in a row at mndtl;w. E bility that 3 particular persons among D
"

. them sit together in a given specifi
A EMWﬁmﬁéamMﬁmwwﬂ%W A

J 3 1
, W % éb @ 3 B
6 (3) %@i (4) % 6

» 145, e two unbiased dice are thrown at random, then the probability that the sum on them  »
] odd pnme number is L
J Sodb D38 DS dgyDysom N0 SO ) o o8 W ged
' Qogrg udbg Doyrigd °
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B VLY OWL~AD

s 146. If a number is chosen ai random from the firgt 50 natural numbers, then the probability
| that the number chosen i$ divisible by 11 g

W6 150 B Dowge WO 28 Longly o) Dyt JowEod. © JoDED)
0 Sowg 113 o AODGBER 8 Do hed

E A ,, 13

L 10 17

| G 1 4) 730

. 147, 1f a 4 digit number is formed at random without repetition using the digits OgJ42.3, 4,
i then the probability that the number thus formed is even is .

i 0.1.2. 3.4 wo3e8 DSord)so CHoe o8 4 wo3e Longhs ﬂﬁ?‘%é Sorm D630,

: u Dowg WOLowg 8Gdg DozrHgd 0
A (1 (2) @
| 148. The mode nf the fnllnwmg I'rcqm:nr.} UHHBQ

20 |WAa Al
3¢ | Al

: (3) (4)

E X 2 5 b} L N\

. f {12 {14 |24 [ 139"

L (1) 8 (2) 24

s 3) 5 " (4) 14

. 149, The median m‘? wing data is

. 28,4, 21, 42% 4,30, 16,5, 13

D (800 &EnomRE wiigriso

E 8 di21, 42, 10,9, 24,30, 16, 5. 13

A 2) 13 (3) 16 4 21

,  150. 1f 6, 5, 4 and 3 occur in a data with frequencies 2, 5, 3 and 4 respectively, then the
arithmetic mean of the data is

. o8 8g°0%0&" 6, 5, 4, 3 o BBV 2, 5, 3, 4 Fhiyrged VoPDY, ¥ SgrorIs

61
@ 1

@ 3

N = N T e 24
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MVSC-15
SECTION-C
Communication Ability
tions : 50
L PART -1
Choose the correct meaning of the word give ;
151. Genesis
(1) relevant (2) beginning
(3)  humorous (4) movement
152. Frivolous
(1) morose (2) unduly meticulous
(3) cheerful (4) easygoing
153. Relish o
(1) savour (2) vindicate
(3) avail (4) desire
154. Rescind '
(1) retreat (2) banish_
(3) repeal (4)., give up
155. Blatant
(1) foolish | (2) loud-mouthed
(3) boastful _ " (4) bloody
156. Malcontent
(1) the dissatisfied one (2) the hﬂstile‘nna
(3) the inappropriate one (4) the obsessive one
Fill in the blank choosing the correct word :
. 157. The wiiter.is admired for his style of writing.
(L) " wredundant (2) concise
(3) " repugnant (4) cumbersome
158.°A sneering person who always finds fault is a/an _
(1) optimist (2) cymc
(3) kleptomaniac (4) fanatic
159. A person who knows a variety of subjects 1s a :
(1) polymer (2) polymath
(3) polygon (4) polyp
160. Waiter, please me tea.
(1) pour (2) amange
(3) serve 4 spil

1BJ

Marks : 50 ©
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Choose the correct answer :

s 161. The system for manufacturing products i, large quantities through effective combinations

0 of employees ""'i_lh specialized skills, mechanization and standardization is often referred (0 a5
E (1) Quality Control (2)  Niche Market
) (3) Mass Production (4) Factory

162, MBO stands for

(1) Management by Objections

(2) Management by Organisations
(3) Management by Objectives

(4) Management by Oral instructions

» 163. The process of selecting the right mode of transport, optimizing.the.cost, taking into

: account the speed of delivery required is the subject of

: (1) Inventory Management (2) Logistics

L (3) Infrastructure Management (4) Cost Accounting

, 164, The individual dots that make up the actual picture on the monitor screen is
; (1) pixels (2) print

, (3) points (4) _ laserrays

¢ 165. Which circuit is used as a Memory Device in Computers ?
D (1) Rectifier | (2Y Flip-Flop
E (3) Comparator _ “(4) Attenuator

166. Interconnection of computef® devices, peripherals, network nodes in series, one after the

other, 1s !
: (1) Darknet - (2) Dark data center
° (3) Damn small Linux (4) Daisy chain

167. A peripheral'devie used to connect a computer to another over 2 phone-line is
(1) Disk Drnive (2) Monitor
(3) «Modem (4) Memory

168.0A step-by-step procedure used to solve a problem is called
: (1) Application program (2) S}rslﬂrnl program
) (3) Algorithm (4) Operating system

169. The total amount of money received from customers for their purchase of products or
services during the specified time period is referred to as
(1) net profits (2) gross sales
(3) product returns (4) consumer investment

» 170, EXIM policy of the country is formulated through the
L (1) Ministry of Finance (2) Ministry of Commerce
(3) Ministry of External Affairs (4) Ministry of Transport
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: hoose the correct answer . PART. 3

lG " i . Are };D'—'kﬂ“mi ng ﬁ:: Coffee 7
prae o an I take a rain check 9 ,
ke '-CB' s P must gt sy o this evening.
(1) refusing the offer,
2) hesitating to accept the offer,
(3) saying he might accept the offar later.
J (4) willing to accept the offer,

Jbigeal  JhigDeal
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S

B l?z_ A E“ d:]'-' Tx};lgejzmﬁ,\:l? I.“ mﬂkc sure a_“ lhEmEEnlaﬁun Elide-s are Iﬁad? on lhE'- lﬂ)ﬁ;_" ., h
| . Good. Orget to give me the : Iﬁ
. B expects A to : ndown on the rehearsal Q)
; (1) make all the arrangements for the rehearsal, ' Vs
E (2) g0 down to his office which is a floor below the venue of the rehearSal, ©
(3) reduce the expenditure involved.

' (4) give a detailed report on the rehearsal.

7. A: W hat sort of person is Bharat ?
J B: He would give the shirt off his back.
B Bharat 18 N .
! (1) an irrational fellow. [Zjﬁ.an_mﬁﬁﬂna] individual.
G (3) a very Zenerous person. (4)-amiserly fellow.

- : jtuation
> 174. These figures do not support his a;gumﬂnl‘:‘-hdmemer [ noticed that the whole situation

: does not add up. - K™
A The underlined portion implies:
L (1) there is a simple arithmetical error.

(2) the figures do nm.rm:tch the numbers.
J (3) there is an exaggeration. 1 .
° (4) there is no redsonable explanation for it.

. 175. A: You look ‘quite cheerful. e . |
6 B: Thats becalse I passed my road test with flying colous.

The underlined idiom means 2) with distinction
(1) tafter several trials ( .+h support from others
E (3) ™ comfortably (A R
176, Anita : Rama, will you join U3 fmn%?":':;'gn?gl‘her.

“"Rama : T need to take pemus'ilﬂ%we conversation ?
J What do you understand by i% her's apron Strings.

(1) Rama s really tied OB TIOTE Fhioes.
(2) Rama wouldn'tlike “g  <ew of sociel).
on a delicate matter.

| (3) Rama takes worm $ €}

: nee
< (4) Rama appreciates advic
> 171, The passive form of the semiﬂ;zh,_ now is
E “Jaya is reading a €OMI® 4 - heing read.
A (1) Right now a comi¢ :}gmﬂd by Jaya right IOW:
] (2) A comic book 18 amic book just then.

" C :
(3)  Jaya was readil® (oo i reading Jaya
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: | -hhuﬂhmm :
" {7 1 remembered him because only recently | 1, ; |
e s him. G
Mo

E.z_;-l::- @) imto D
AJI‘F n " A
Lri_': m ” L
1. Hebascopiedword _______ word from his textbook. |
1 (1) afer (2) into B
] 3) for (4) over co lG
T i the whole, the students seem 1o like their teacher ® ”
A (1) On @ In : ocl E
L 3 M (4) Why A
o0 IBL I it rmine, | 1o your house this evening. /
B (1) shall come B
| (2) will not come |
E;'I.Iﬂ E
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| PART -4
G Read the following passage and answer questions 186-190. 'G
D The greatest enemy of mankind, as people have discovered, is not science, but war. D
: Science merely reflects the prevailing social forces, It is found that, when there is peace,
science is constructive; when there is war, science is perverted to destructive ends. :
A The weapons which science gives us do not necessarily cause war; they make war A
: increasingly terrible. Till now, it has brought us to the doorstep of doom. Our main problem, L
J therefore, 1s not to curb science, but to stop war — to substitute law for force, 311
international government for anarchy in the relations of one nation with another. That _.:::.;:- Y J
’ job in which everybody must participate, including the scientists. o % B
! But the bombing of Hiroshima suddenly woke us up to the fact that we hav. |
G tme. The hour is late and our work has scarcely begun. Now we are .
D urgent question — “Can education and tolerance, understanding and crc,aﬁ\r: intellige: < run D
: fast enough to keep us abreast with our own mounting capacity to destroy 7 That 1s
question which we shall have to answer one way or the other in M-,:@&"““' Science E
) must help us in armving at the answer, but the main decision lieﬂ'-ﬁ\(i@n'i;gumlvﬂ. A
) S x‘ _.ﬂ.' ' ]
186. According to the writer, the main problem we are faced m;SW Y |
SOp: SCIShcC INg SOCK 3. & &7
| (1) stop science from reflecting social forces ¢ L
° (2)  stop scientific activities everywhere. B
! (3 abolish war. -’.Z.'_ft-_\_l_’-'f'x;._‘_:'j_-_‘*. |
G (4)  prevent scientists from participating igmﬁﬁve activities. i
° 187. The expression ‘bring to the dnnrslag_lof_ ,dh?m" means D
E (1Y carry close to death and ﬁea;mcﬁon E
A (2)  head towards the threshg“fﬂfj;-'_f"ﬁ_:_-nﬁw destiny. A
L (3) indulge in a ruinous achivity: L
| (4)  be introduced to ;ﬁ,;__mtﬁctablt destiny. |
s 188, Which of the fnl_lgﬁﬁfﬁiﬁ"ﬁppusit: in meaning to the word ‘anarchy’ in the middle of the B
| passage? = @™ N _ |
o (1) an\;;i’:iﬂ, order (2) Political dominance .
i (3)  Ee onﬁc prosperity (4) Communal harmony D
e 189, 'mm-ifhﬁliﬂﬂlc to the destructive impulse is E
A o(1) Curbing the inventive power of science. o ,
. 2 analyzing the after-effects of the bombing of Hiroshima. L
(3) educating the present generation on the uses of science. J
| (4) promoting tolerance and understanding through education. B
B E
= 1 i 1 I
. 190. According to the writer, the real enemy of ms:nhnd_lshnul Sc:l:?:::l;l:w because
G (1) science merely invents the weapons w:nh which war 6
0 (2) science during wars becomes destructive. il o i
: (3) the weapons that science invents necessarily brd RS = T
A (4) the weapons invented by science do not cause W&k ake the -
L destructive. |
- - ke '

L b o i - s ¥
Ll " L LS < e k- |
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Read the passage below and choose the correct answer 191195
swer -195:

He came out of a stormy February Mght, Two large eyes glared at me through the

darkness of my rain-drenched cabin winggy, 404 in the gleam of lighting, 1 5% 2 large

brown body and huge jaws. I feared it was 4 lion. 1 had gone to British Columbia, 01 the

Pacific Coast of Canada, 10 Wrile a novel, For seyen months 1 had lived all alone in MY

wooden cabin. Scared, [ slowly backed into the kitchen for my torch and an axe. I shone
the torch through the window to find myself facing a large black and brown dog, hi tail
wagging wildly. I opened the door slightly and he rushed into the room. bringing pools of
water, - oing half-mad with delight. In spite of his big head he was very ghin. The bones
showeu through his coat. But the look in his eyes said more clearly than anyswords that he
was hungry. I gave him all the meat I could find in the kitchen. Thén he'spent the next two
hours finding different ways to thank me; whining, bufying his wet head in my lap,
pawing at my legs, reacting to my every look or movernént. E.vt:l‘}'limﬂ I looked up from
my work, his deep brown eyes were on me, and his 141l thumped the floor. So that night in
1967, Booto, the wild dog from forests, came into 'my jonely life.

Why did the author go to Canada ?

(1) To hunt for animals o W £2) Tolive in a forest alone
(3) To do creative writing | (4) To protect stray animals
Why did the author fétchaﬂ axe from the kitchen ?

(1) To protect hifusels (2) Tokill a lion

(3) To attack a robber (4) To hack the dog

193. The dog beat its tail on the floor to show its

194, From that stormy night in 1967, Booto became the author’s

(Iyo gratitude (2) anger
(3) hunger (4) impatience

(1) ward (2) son
(3) companion (4) adversary

195. Who came to the authors’s house in storm ?

(1) Alion | (2) A friend
(3) A stranger (4) A wild dog
a0
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’ Read the following passage and answer questions 196-200 : .
|

|
° During Mao Zedong's rule in the 1960s the Chinese fought a ﬁen:e. but ﬁm}e battle G
° against the ‘Sihan' — the four parts of rat_s_.: bed bugs, flies and mug.q.[utﬂe.s wh:c_h have D
E plagued the country for centuries. Now Beijing has declared a nation wide war against the

‘Liuhai’. the six evils of prostitution, pornography, abduction and tran:lmg of Tum aFd :
children, drug trafficking, gambling, and profiteering from superstition. Public STU A
Minister, Wang Fang, explained that those social ills “have seriously polluted sc:: tgf L
: disturbed public order and undermined the physical and mental health of a vast number

eople, especially the youth™. '
| o China's guardians of public order have not exactly been lax. Supreme Cumv;::
President, Lin Zhum, revealed last month that from 1983 to 1988 Chinese gourts punis
89.500 criminals for committing one of the six evils. Of these, 3142 were given sentenct:s D
of death or life imprisonment. An additional 11,000 were arrested in‘the first nine mm_1n c:
of this year. But of course, the evil persists. In fact, officials in .ﬂm Mheﬂ]{zg Fé.;‘ s .
of Guangdong, last week discovered a seventh evil secret — criminal gangs. Sai a n A
sacial scientist “The more prosperous and free we become, the more evils we face”. L

>

—

(o o]

(0]

lw)

m

. 196. What docs ‘freewheeling’ in the passage mean ?
| (1) City of bicycles

6 (2) Movement of people without constralnis )
D (3)  Aimless loitering of jobless people D
E (4) Free public transport services E

197. What made a Chinese comment, “The more prosperous and free we become, the more
evils we face™ 7

; (1) Increasing ‘Sihan' B
| (2) Success against”Liuhal’ .
6 (3) Thediscovery of criminal gangs G
0 (4) Failing moral standards D

: speri d evil are -
198. Prosperity and e (2) inversely proportional

L (1) directly proportional .
(3) indirectly proportional (4) occasionally related |

° 199, Who was instrumental in the war against 'Sih“’;? ’ ;
| (2) Wang Fang |

1) Mao Zedon : ' Y G
G 23; Lin Zhum . (4) Aneminent Chinese social scientist
E 200, What was the average number of Chiﬂﬂse{;;mim[ ‘Liuhai’ from 1982 0 1989 ? E.
’ (1) 17,900 : be G2 |
L ' (4) Cannot be found

(3) 89,500 |

a1t . L
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APICET-2015
SERIES-A
KEY

Q.No Choice Q.No |Choice| Q.No Choice

1 2 26 4 51 2
) 2 3 27 2 52 1

3 1 28 4 53 4
G 4 1 29 3 54 3
P 5 4 30 4 55 2

6 3 31 3,4 56 3
" 7 4 32 1 57 4

8 1 33 2 58 1

9 1 34 3 59 2
i 10 1 35 4 60 3
. 11 2 36 3 61 4
0 12 1 37 4 62 1
; 13 4 38 2 63 2
A 14 3 39 2 64 3
L 15 2 40 1 65 4
J 16 3 41 1 66 2
|B 17 1 42 1 67 2
. 18 4 43 3 68 1
b 19 4 44 3 69 4
E 20 2 45 3 70 3
A 21 3 46 1 71 2
L 22 3 47 4 72 1
J 23 3 48 2 73 2
lB 24 1 49 2 74 3
. 25 4 50 3 75 4
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APICET-2015

SERIES-A
KEY
Q.No Choice Q.No |Choice| Q.No Choice
76 3 101 1 126 1
77 3 102 3 127 3
78 3 103 2 128 1
G 79 3 104 3 129 3
° 80 2 105 2 130 1
81 2 106 2 131 Add Score
82 1 107 1 132 4
83 3 108 4 133 4
84 3 109 1 134 4
85 2 110 3 135 2
. 86 3 111 4 136 3
0 87 3 112 3 137 1
e 88 4 113 2 138 4
89 3 114 1 139 4
90 2 115 3 140 2
91 1 116 3 141 1
B 92 1 117 1 142 3
6 93 2 118 2 143 2
b 94 1 119 1 144 4
. 95 4 120 4 145 3
A 96 3 121 3 146 2
L 97 2 122 1 147 Add Score
J 08 1 123 3 148 1
lB 99 3 124 1 149 2
. 100 2 125 3 150 3
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APICET-2015

SERIES-A
KEY
Q.No KEY Q.No KEY
151 1 176 2
152 2 177 1
153 4 178 4
; 154 1 179 2
155 3 180 3
A 156 2 181 1
157 1 182 2
158 2 183 1
B 159 2 184 4
160 2 185 1
161 2 186 4
162 2 187 3
A 163 3 188 1
L 164 3 189 1
) 165 2 190 4
° 166 1 191 4
167 2 192 3
z 168 4 193 1
. 169 3 194 1
A 170 3 195 3
L 171 2 196 4
) 172 3 197 2
B 173 4 198 3
| 174 3 199 1
z 175 4 200 1
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APICET-2015
SERIES - B
KEY

Q.No Choice Q.No |Choice| Q.No Choice

1 1 26 4 51 1
) 2 1 27 3 52 4

3 1 28 4 53 3
G 4 2 29 3 54 2
P 5 1 30 3 55 2

6 4 31 1 56 1
" 7 3 32 2 57 2

8 2 33 3 58 3

9 3 34 4 59 4
i 10 1 35 3,4 60 1
. 11 4 36 2 61 2
0 12 4 37 2 62 3
E 13 2 38 1 63 4
A 14 2 39 1 64 3
L 15 3 40 1 65 4
J 16 1 41 3 66 2
|B 17 1 42 3 67 1
G 18 4 43 3 68 4
b 19 3 44 3 69 3
E 20 4 45 4 70 2
A 21 3 46 4 71 1
L 22 1 47 2 72 2
J 23 4 48 2 73 3
lB 24 4 49 3 74 4
. 25 2 50 1 75 2
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APICET-2015
SERIES - B
KEY

Q.No Choice Q.No | Choice Q.No Choice
76 3 101 4 126 4
77 3 102 1 127 4
78 2 103 3 128 2
. 79 3 104 3 129 3
80 3 105 3 130 1
A 81 4 106 3 131 4
82 3 107 3 132 4
83 2 108 2 133 2
B 84 1 109 2 134 4
85 1 110 1 135 3
86 2 111 2 136 2
87 1 112 1 137 1
A 88 4 113 4 138 3
L 89 3 114 3 139 3
! 90 2 115 1 140 1
; 91 1 116 3 141 4
92 3 117 1 142 3
z 93 2 118 3 143 2
. 94 1 119 1 144 Add Score
A 95 3 120 3 145 1
L 96 2 121 1 146 2
) 97 3 122 3 147 3
B 98 2 123 1 148 1
| 99 2 124 Add Score 149 3
z 100 1 125 4 150 2
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SERIES - B
KEY
Q.No KEY Q.No KEY
151 2 176 1
152 4 177 2
153 1 178 2
¢ 154 3 179 3
° 155 2 180 1
156 1 181 2
157 2 182 1
158 2 183 4
159 2 184 1
160 1 185 4
. 161 3 186 3
0 162 3 187 1
; 163 2 188 1
164 1 189 4
165 2 190 4
166 4 191 3
B 167 3 192 1
6 168 3 193 1
D 169 2 194 3
E 170 2 195 4
A 171 3 196 2
L 172 4 197 3
J 173 3 198 1
T 174 4 199 1
. 175 2 200 4
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APICET-2015
SERIES - C
KEY

Q.No Choice Q.No |Choice| Q.No Choice

1 3 26 3 51 3
. 2 2 27 3 52 2

3 3 28 3 53 2
G 4 1 29 1 54 1
P 5 4 30 4 55 4

6 4 31 3 56 4
" 7 2 32 4 57 1

8 2 33 3,4 58 2

9 3 34 1 59 3
i 10 1 35 2 60 4
. 11 1 36 1 61 3
b 12 4 37 1 62 4
e 13 3 38 3 63 1
A 14 4 39 3 64 2
L 15 1 40 3 65 3
J 16 1 41 3 66 2
|B 17 1 42 4 67 1
6 18 2 43 2 68 2
b 19 1 44 2 69 3
; 20 4 45 1 70 4
A 21 4 46 2 71 2
L 22 2 47 3 72 2
J 23 4 48 1 73 1
lB 24 3 49 4 74 4
. 25 4 50 2 75 3
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APICET-2015
SERIES - C
KEY

Q.No Choice Q.No Choice | Q.No Choice
76 3 101 3 126 4
77 2 102 3 127 3
78 1 103 4 128 2
5 79 3 104 3 129 1
80 2 105 2 130 3
A 81 1 106 1 131 3
82 3 107 1 132 1
83 2 108 2 133 2
B 84 3 109 1 134 1
85 2 110 4 135 4
86 2 111 1 136 3
87 1 112 3 137 1
A 88 4 113 1 138 3
L 89 1 114 3 139 1
) 90 3 115 1 140 3
® 91 3 116 Add Score 141 Add Score
92 3 117 4 142 1
z 93 3 118 4 143 2
] 94 3 119 4 144 3
A 95 2 120 2 145 1
L 96 2 121 3 146 3
) 97 1 122 1 147 2
B 08 3 123 4 148 4
| 99 3 124 4 149 3
z 100 2 125 2 150 2
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APICET-2015

SERIES - C
KEY
Q.No KEY Q.No KEY
151 1 176 3
152 3 177 4
153 2 178 2
; 154 1 179 1
155 2 180 4
A 156 4 181 1
157 2 182 4
158 1 183 2
B 159 2 184 3
160 2 185 1
161 1 186 1
162 2 187 4
A 163 4 188 4
L 164 3 189 3
) 165 3 190 1
° 166 2 191 1
167 2 192 3
z 168 3 193 4
. 169 3 194 3
A 170 2 195 1
L 171 3 196 1
s 172 4 197 1
B 173 2 198 4
| 174 1 199 2
z 175 2 200 3
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APICET-2015
SERIES - D
KEY

Q.No Choice Q.No |Choice| Q.No Choice
1 4 26 1 51 2
B 2 2 27 4 52 2
3 2 28 4 53 1
4 3 29 2 54 4
’ 5 1 30 4 55 3
6 1 31 4 56 3
7 4 32 3,4 57 4
8 3 33 1 58 3
. 9 4 34 2 59 4
10 1 35 3 60 1
G 11 1 36 3 61 2
D 12 1 37 3 62 3
‘ 13 2 38 3 63 4
’ 14 1 39 4 64 1
L 15 4 40 2 65 2
JB 16 3 1 2 66 3
| 17 2 42 1 67 4
G 18 3 43 1 68 2
D 19 1 44 1 69 2
- 20 4 45 3 70 1
f 21 3 46 3 71 4
22 4 47 1 72 3
JB 23 3 48 4 73 2
| 24 3 49 2 74 1
G 25 3 50 2 75 2
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SERIES - D
KEY

Q.No Choice Q.No |Choice| Q.No Choice
76 3 101 1 126 1
77 2 102 2 127 4
78 3 103 1 128 3
5 79 2 104 4 129 1
80 2 105 3 130 3
A 81 1 106 2 131 1
82 4 107 1 132 3
83 1 108 3 133 1
B 84 3 109 2 134 3
85 3 110 1 135 1
86 3 111 4 136 3
87 3 112 2 137 1
A 88 3 113 3 138 Add Score
L 89 2 114 1 139 4
! 90 2 115 4 140 4
B 91 1 116 4 141 3
92 3 117 2 142 1
z 93 3 118 4 143 3
i 94 2 119 3 144 2
A 95 3 120 2 145 4
L 96 3 121 1 146 3
s 97 4 122 3 147 2
B 98 3 123 3 148 Add Score
| 99 2 124 1 149 1
z 100 1 125 2 150 2
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KEY
Q.No KEY Q.No KEY
151 2 176 4
152 1 177 2
153 2 178 1
o 154 4 179 4
° 155 1 180 2
156 3 181 3
157 1 182 1
158 2 183 2
159 2 184 1
160 2 185 4
. 161 3 186 4
0 162 3 187 4
E 163 2 188 3
164 2 189 1
165 3 190 1
166 3 191 4
B 167 2 192 3
. 168 1 193 1
D 169 2 194 1
E 170 4 195 3
A 171 1 196 4
L 172 2 197 2
J 173 3 198 3
T 174 4 199 1
. 175 3 200 1
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